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Once a candidate has passed the VMware 5V 0-35.21 exam, they will be awarded the VMware vRealize Operations Specialist
certification. VMware vRealize Operations Specialist certification is a valuable credentia for IT professionals who work with
VMware products and services. It demonstrates that the individua has the knowledge and skills required to optimize and manage
vSphere environments using vRealize Operations. VMware vVRealize Operations Specialist certification can help IT professionals
advance their careers and increase their earning potential.

VMware 5V0-35.21 certification exam is a challenging exam that requires candidates to demonstrate their knowledge and skillsin a
variety of areas. 5V0-35.21 exam covers arange of topics, including configuring and deploying vRealize Operations, managing and
monitoring virtualized environments, analyzing and optimizing performance, and troubleshooting issues. Candidates who pass the
exam will have a comprehensive understanding of vRealize Operations and will be able to effectively manage and monitor
virtualized I'T environments.
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QUESTION 14

For the past 12 hours, a vRealize Operations Cluster has exhibited erratic behavior, and the remote collectors appear to be the cause.
The administrator has contacted VMware support, and they have requested all relevant logs.

Because of bandwidth constraints, the customer will only be able to send the minimum amount of information to VMware support.

Which support bundle should the customer send that fits these constraints?
* Full-support bundle from the Primary nodes only

* Light-support bundle from the Primary nodes only

* Full-support bundle from all nodes

* Light-support bundle from all nodes

QUESTION 15

There is aplanned project to move some workloads from a company& #8217;s vSphere environment, which is running in their data
center, to a public cloud. The vSphere environment is being monitored by vRealize Operations.

An administrator has been asked to get a monthly cost estimate for running the workloads in a public cloud.

What are two of the public cloud providers that are supported out-of-the-box in vResalize Operations What-1f planning for public
cloud costs? (Choose two.)

* Microsoft Azure

* Salesforce Cloud

* QOracle Cloud

* Alibaba Cloud

* Google Cloud

QUESTION 16

Which two are supported Cloud Account types in vRealize Operations? (Choose two.)
* Microsoft Azure

* Horizon Connection Server

* Google Cloud Platform

* vRealize Automation

* vCenter Server

QUESTION 17

Which option in vRealize Operations is able to cal culate measurements on a Guest OS?
* Custom Script

* HTTP Check

* UDP Check

* TCP Check

QUESTION 18
Which actions can be performed on vSphere virtual machine from vRealize Operations Product UI? (Choose three.)

* Create virtual machine snapshot
* Delete virtual machine snapshot
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* Move virtual machine
* Add virtual disk

* Expand virtua disk

* Add vCPU

QUESTION 19

An administrator has been tasked with configuring vRealize Operations cost drivers to assign a different cost per GB for different
storagetiers.

Which steps should the administrator complete to meet this objective?

* Use avSphere tag category, assign different tag values for that category to the different tiersin the vSphere client, and then assign
different costs per GB for each tag value.

* Create a custom group in vRealize Operations for each of the storage tiers, and then assign a cost per GB to each custom group.

* Assign different costs per GB to each of the storage types discovered by vRealize Operations.

* Use aVvRealize Operations tag with different tag values manually configured for each datastore or datastore cluster object on the
Inventory page, and then assign a cost per GB for each tag value.

QUESTION 20

Which Grouping Option in vRealize Operations allows the configuration of Tiers?
* Tags

* Applications

* Cloud Zones

* Custom Datacenter

QUESTION 21

Which two statements accurately characterize reports in vRealize Operations? (Choose two.)
* Views and Dashboards are the only data types available for areport.

* Only PDF type reports can be used to schedule areport generation.

* A report layout can contain table of contents, cover page, and footer.

* Scheduling of reports can be done hourly, daily, weekly, and monthly.

* Reports scheduled for generation can only be shared out via email.

QUESTION 22

Which regulatory, standards-based compliance pack is available in vRealize Operations?

* Sarbanes-Oxley Act (SOX)

* Common Vulnerabilities and Exposures (CVE)

* CIS Security Standards

* General Data Protection Regulation (GDPR)

QUESTION 23

An administrator is configuring Workload Optimization to maximize the workload performance.

Which configuration proactively moves workloads so that the resource utilization ensures maximum headroom for all resources?

* Buffer
* Moderate
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* Balance
* Consolidate

QUESTION 24

Which two additional parameters are taken into account when sizing a vRealize Operations cluster using the sizing tool? (Choose
two.)

* Time Series Data Retention

* Number of nodes

* Projected Growth

* Nodesize

* Number of current users

QUESTION 25

An administrator created a pricing card for a new environment. After the pricing card was created and attached, the administrator
immediately checked-the cost dashboard but only sees zero prices for the VMsin the new environment.

What is the reason for this behavior?

* The prices are only available for ESXi hosts.

* A cost-based pricing card was created.

* The cost calculation has not run yet.

* The pricing card was not attached to the VM resource.

QUESTION 26

A company hasjust acquired a competitor with a vSphere environment and would like to have the new vSphere environment also
monitored by the company&#8217;s original three-node vRealize Operations cluster. The vRealize Operations Sizing tool
determines two additional data node, and a remote collector needs to be added to the vRealize Operations cluster.

The nodes are deployed accordingly, and the administrator now needs to create a trust relationship between the cluster and each of
these new nodes.

Which two methods will meet this goal ? (Choose two.)

* Generate passphrases in the administration User Interface of an existing node, and enter them when prompted in each new node.
* Click the Add New Nodes button on the Cluster Management page in the product User Interface of an existing node.

* Useany local or directory user with the Administrator role in vRealize Operations when prompted in each new node.

* Click the Add New Nodes button on the System Status page in the administration User Interface of an existing node.

* Use the vRealize Operations root user name and password when prompted in each new node.

QUESTION 27

An administrator has been notified of a critical aert associated with a VMware vCenter cloud account. The alert states that
&#8220;0bjects are not receiving data from adapter instance& #8221;. The administrator investigated the problem and resolved the
underlying issue. The administrator nowneeds to stop the alert from triggering again, unless the problem occurs in the future.

Which alert action should the administrator take to meet the criteria?
* Suspend

* Cancel Alert

* Release Ownership
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* Disablethedert in al polices

QUESTION 28

Which step is required before a Super Metric& #8217;s data collection may begin?
* Enablein Alerts

* Enablein Object Types

* Enable in Objects

* Enablein Policy

QUESTION 29

An administrator isworking on a non-credential based service discovery in avirtualization environment using vRealize Operations.

Which package is a base requirement of the virtual machine?
* Telegraf Agent

* NET

* Remote Collector

* VMware Tools

QUESTION 30

An administrator has enabled the allocation model in a policy and set the CPU overcommit ratio to 4:1 for all vSphere clustersin a
vSphere datacenter.

Why would vRealize Operations report that the cluster has 0 days remaining when the actual CPU overcommit ratio is less than the
4:1 configured value?

* The allocation model will always report zero remaining capacity when the actual ratio is less than the configured ratio.

* The allocation model does not account for powered off virtual machines.

* The CPU demand in the cluster is less than the total CPU capacity.

* The CPU demand in the cluster is greater than the total CPU capacity.

QUESTION 31

A customer is running a 4-node cluster for their Windows and Linux workloads. To keep the licensing costs at a minimum, the
customer only licensed two nodes for Windows and two nodes for Linux within the cluster.

Now, the administrator needs to ensure the workloads only run on their assigned nodes.
What should an administrator configure to achieve this goal ?

* QOperational Intent &#8211; Clusters

* Business Intent &#8211; Clusters

* QOperational Intent &#8211; Hosts

* Business Intent &#8211; Hosts

QUESTION 32

An administrator is using vRealize Operations for capacity modeling to determine how many moreESXi servers are needed to
increase time remaining and capacity remaining score.
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What can be used to accomplish this goal?
* What-If Analysis

* Rightsizing

* Operations Overview

* Workload Optimization

QUESTION 33

An administrator configured a Symptom with a Wait Cycle of 3 and a Cancel Cycle of 2. The default cycle was not changed.

How many minutes will it take for both to be triggered?
* Wait: 15 minutes, Cancel: 15 minutes
* Wait: 15 minutes, Cancel: 20 minutes
* Wait: 15 minutes, Cancel: 10 minutes
* Wait: 20 minutes, Cancel: 15 minutes

QUESTION 34

What are the two required components of an alert definition? (Choose two.)
* Symptom

* Version

* Node

* Action

* Recommendation

QUESTION 35

Which three node configurations are supported during installation, according to vRealize Operations Sizing Guidelines? (Choose
three.)

* Large

* Small

* Tiny

* Very Large

* Medium

* No limit

QUESTION 36

A customer is planning to setup a new vRealize Operations environment using the followinginfrastructure:
Thereis one physical location.

Thislocation has afew vCenter Servers.

These vCenter Servers will be monitored through vRealize Operations.

The customer wants to tolerate only one vRealize Operations node failure without losing any datain this vRealize Operations
cluster.

Which vRealize Operations cluster feature must be used for this requirement?
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* High Availability
* Continuous Availability
* Stretched Cluster
* Remote Collector

QUESTION 37

After deploying vRealize Operations, an administrator needs to configure cost drivers to accurately reflect the purchase price and
date of all nodes within the VMware vSAN cluster that are being monitored.

Which type of cost driver should the administrator select?
* Server Hardware: Hyper-Converged

* Storage

* Server Hardware: Traditional

* Additional Costs

QUESTION 38
An administrator discovered a problem in the virtual infrastructure and obtained instructions that would resolve the triggered alert.

Which alert component was used by the administrator?
* Threshold

* Symptom

* Recommendation

* Reclamation

Full 5V0-35.21 Practice Test and 78 Unique Questions, Get it Now!:
https://www.test4engine.com/5V 0-35.21 exam-latest-braindumps.html]

Jan 02, 2024 Updated 5V0-35.21 Dumps Questions For VMware Exam [ Q14-Q38] | Page7/7 |


https://blog.test4engine.com/?p=940
https://www.test4engine.com/5V0-35.21_exam-latest-braindumps.html
https://blog.test4engine.com/?p=940

